
0 x 11 =  
     

1 x 11 =  
   =  

2 x 11 =  
     

3 x 11 =  
     

4 x 11 =  
     

5 x 11 =  
     

6 x 11 =  
     

7 x 11 =  
     

8 x 11 =  
     

9 x 11 =  
     

10 x 11 =  
     

11 x 11 =  
     

12 x 11 =  

8 x 11 =  
     

11 x 5 =  
     

3 x 11 =  
     

 x 11 = 66 
     

 x 11 = 132 
     

 x 11 = 0 
     

99 =  x 11 
     

 x 11 = 11 
     

121 = 11 x  
     

44 =  x 11 
     

 x 11 = 77 
     

110 =  x 11 
     

11 x  =  22 

11 
multiplication and division 
fluency 

name: 

date: 
total: 

    

 out of 50 

66 ÷ 11 =  
     

 = 121 ÷ 11 
     

0 ÷ 11 =  
     

44 ÷  = 4 
     

 ÷ 11 =  9 
     

 ÷ 11 =  12 
     

 =  77 ÷ 11 
     

8 =  ÷ 11 
     

2 = 22 ÷  
     

 ÷ 11 = 10 
     

5 =  ÷ 11 
     

33 ÷ 11 =  
     

     

44 = 11 x  
     

 =  110 ÷ 11 
     

55 =  x 5 
     

 = 8 x 11 
     

22 ÷ 11 =  
     

 ÷ 11 = 12 
     

66 =   x 11 
     

1 =   ÷ 11 
     

 ÷ 3 =  11 
     

11 x  = 99 
     

121 ÷  = 11 
     

 x 11 = 77 
     

     



0 x 11 = 0 
     

1 x 11 = 11 
   =  

2 x 11 = 22 
     

3 x 11 = 33 
     

4 x 11 = 44 
     

5 x 11 = 55 
     

6 x 11 = 66 
     

7 x 11 = 77 
     

8 x 11 = 88 
     

9 x 11 = 99 
     

10 x 11 = 110 
     

11 x 11 = 121 
     

12 x 11 = 132 

8 x 11 = 88 
     

11 x 5 = 55 
     

3 x 11 = 33 
     

6 x 11 = 66 
     

12 x 11 = 132 
     

0 x 11 = 0 
     

99 = 9 x 11 
     

1 x 11 = 11 
     

121 = 11 x 11 
     

44 = 4 x 11 
     

7 x 11 = 77 
     

110 = 10 x 11 
     

11 x 2 =  22 

11 
multiplication and division 
fluency 

name: 

date: 
total: 

    

 out of 50 

66 ÷ 11 = 6 
     

11 = 121 ÷ 11 
     

0 ÷ 11 = 0 
     

44 ÷ 11 = 4 
     

99 ÷ 11 =  9 
     

132 ÷ 11 =  12 
     

7 =  77 ÷ 11 
     

8 = 88 ÷ 11 
     

2 = 22 ÷ 11 
     

110 ÷ 11 = 10 
     

5 = 55 ÷ 11 
     

33 ÷ 11 = 3 
     

     

44 = 11 x 4 
     

10 =  110 ÷ 11 
     

55 = 11 x 5 
     

88 = 8 x 11 
     

22 ÷ 11 = 2 
     

132 ÷ 11 = 12 
     

66 =  6 x 11 
     

1 =  11 ÷ 11 
     

33 ÷ 3 =  11 
     

11 x 9 = 99 
     

121 ÷ 11 = 11 
     

7 x 11 = 77 
     

     


